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MBE=TH W L ADE 2.891 2.366 2,583 4,949
AIE_TH |& & F =& 1,869 1,847 2,087 3,934
(KEF—TH |AHa- AHm 2,098 1,756 1,792 3,548
XHFEF-TH |KHa kAHm 2,281 1,988 1,837 3,825
KEF=T 8 |AHa AHmH 2,145 1,782 1,624 3,406
[ KEEABT— T B | K750 - NI 2,385 2,293 2,302 4,595
KHFE—T B |AGE W A 1,467 1,556 1,377 2,933
RHFE_TH |AGE 5 A 2,350 2,407 2,250 4,657
EHE—TH |5 &-F ® 2569 1,990 2452 4,442
= fr EEHT - A DGR - = 7 3,103 2,662 3,028 5,690
FE—TE DA ADIR K 1,827 1,497 1,649 3,146
FEZTH FEOA-ZX O 2.107 1,721 1,820 3,541
FE=TH FEOA-ZX O 1,806 1,668 1,771 3,439
Bt E—TH [AHE-FT & 1,939 2118 2120 4,238
M E—_TH |ADR-= B 2,799 2,609 2,711 5,320
REARATH [AHER-T & 1,854 1,938 2,001 3,939
EFER—1TH | A F & 1,484 1,325 1,607 2,932
BFR_JTH |E &8 F & 806 848 959 1,807
MTER=TH | & F X 1,607 1,491 1,564 3,055
FEANT H B SA-ah F 2,388 2,325 2,261 4,586
BEEA_T1H |& 0= & 1,377 1,104 1,380 2,484
BEEANTH [ B2 & 971 897 1,042 1,039

EXRTH |[ANER-F & 1,020 1,141 1,249 2,390
EAKIKHET HERG = & 1,331 1,211 1,380 2,591
A — T H |[fit & EHE 2,759 2436 2464 4,900
FEA_—TH |/ H-5HE 2776 2261 2221 4482




